
www.E
Tu

S-
La

nd
gr

af.
co

m

KDC-MP925/W8027

32

EXPLODED VIEW (UNIT)

Parts with the exploded numbers larger than 700 are not supplied.

3

2

1

DC

(X16-253)
ED1

(X34-303)

(X16-221)

Yx2

U

U

Z

U
U

U

P

K

Q

S

S

W

Vx2
Vx2

Tx2

V
X

Yx2

Q

Q

F

F

(X16-208)

Rx2

M

G

G

Jx2

G

G

A
B
C
D
E
F
G
J
K
M
N

:
:
:
:
:
:
:
:
:
:
:

N09-4448-05
N09-6073-05
N09-6087-15
N09-6088-05
N09-6089-15
N09-6093-05
N09-6094-05
N09-6096-05
N09-6097-05
N09-6105-05
N19-2175-04

M2x1.9

M2x2

M2x3(BLK)
φ2x5
φ2x5(BLK)
M2x3(BLK)
M2x2
φ2x5(BLK)
FLAT WASHER

P
Q
R
S
T
U
V
W
X
Y
Z

:
:
:
:
:
:
:
:
:
:
:

N19-2176-04
N24-3015-60
N38-2025-46
N38-2650-45
N67-3005-46
N83-3005-46
N83-3008-46
N86-2004-45
N80-3008-46
N83-3010-46
N84-2004-46

FLAT WASHER
RETAINIING RING
M2x2.5
M2.6x5(BLK)
M3x5
φ3x5
φ3x8
φ2x4(BLK)
φ3x8
φ3x10
φ2x4

763

808

FPC3

281

284

225

DME1

252

748

256

237

223

265

239

277

238

230

232
253

251
286

285

224

250

236

227

PM1267

FPC2 272

280

283

225

222

264

PME1

264

249

703

768

768

204

212

709

208

774

315
775

278
220x2

DC1

210

RM2

262x2
262x2

262x2

262x2

243

243242

740

758

760

816

820

817

812

747

759F1

FC1

206

819

702

234

235

233
PM2

SIZE AA
BATTERY

(Not Supplied)

K

K

C

Kx2

Ex2

Cx2

Cx2

Cx2

D

B

Q

Q

C

K

C

N

C

279

228

287

226

266

245

229

K

K

Cx2

Cx2

P

214
216

707

213

FPC1

PA1

U

303

201

302

U

W2
(X34-)

809

757

G

G

G Gx2

219273

270

294

300

298

296

299

810
295

297

790

718

273PA2

(X16-256)

773

776

293

U

A

A

RM1 306

DC2

Depends on the model. Refer to the parts list.


